I MOULDPRO
FITTINGS [

Push Lock - Hose Connector Parallel Thread

L
L1 —
I m——.
| P o
e U H
— L]
Part No. A D L L1 S
P10R1/8 R1/8 10 39 7 10
P10R1/4 R1/4 10 39 7 10
P10M14 M14x1,5 10 42 7 10
P10R3/8 R3/8 10 43 7 10
P13R1/4 R1/4 13 39 10 10
P13R3/8 R3/8 13 43 10 10
P13R1/2 R1/2 13 43 10 10

Female Hose Connector

Part No.

F10R1/8 1/8” BSP 10 33 8 14 25
F10R1/4 1/4” BSP 10 33 8 17 25
F10M14 M14x1,5 10 32 10 17 10
F13R1/4 1/4” BSP 13 39 8 17 25
F13M16 M16x1,5 13 40 10,5 22 10
F13R3/8 3/8” BSP 13 40 8 19 25

Hose Connector - BSPP Thread, Swivel Nut and 60° Cone Seat

L
— - :

p—— L1
"

Part No. A D L L1 SW S
CM14 M14x1,5 10 39,5 22 17 10
CR1/4 G1/4 10 39,5 22 17 10
CM16 M16x1,5 13 39 25 19 10
CR3/8 G 3/8 13 39 25 19 10
CR1/2 G 1/2 13 45 25 24 10
CM24 M24x1,5 19 52 32 30 10
CR3/4 G 3/4 19 52 32 30 10

CR1 G1" 25 55 32 38 5

www.mouldpro.com | 59



2 MOULDPRO
2 FITTINGS

Hose Connector - BSPP Thread, Swivel Nut and Flat Seat

i L -
— - L1
<L%—%

Part No. A D L L1 sw S
CFR3/8-10 G 3/8 10 39 25 22 10
CFR3/8-13 G 3/8 13 39 25 22 10
CFR1/2-13 G 1/2 13 39 25 24 10
CFR3/4-10 G 3/4 10 34 18 29 5
CFR3/4-13 G 3/4 13 36 22 29 5
CFR3/4-19 G 3/4 19 52 32 32 5

CFR1-19 G1 19 43 25 37 5

CFR1-25 G1 25 55 32 38 5

CFR1.1/4-32 G 1-1/4 32 55 32 48 1
CFR1.1/2-38 G1-1/2 38 55 32 52 1
Supplied without gaskets.
Fiber Gaskets for Flat Seat Hose Connector
D
Part No. d Fit Thread Size S
GK38 14,5 8 G 3/8 1
GK12 18 12,5 G1/2 1
GK34 24 16 G 3/4 1
GK1 30 25 G1 1
GK114 38 31 G1.1/4 1
GK112 44 36 G1.1/2 1
Extended Hose Connector
L
— 2 T =
= O _E]a
Part No. D D1 d L SwW S

C120/10 10 10 6 120 1 10

C240/10 10 10 8 240 M 10

C150/13 13 14 9 150 15 10

C300/13 13 14 9 300 15 10

60 | Moulding Supplies Edition 11



I MOULDPRO
FITTINGS [

90° Hose Connector

L2
A
O
SW r
[a]
Part No. A D L L1 L2 sw S
V10M8 M8x0,75 10 27 9 39,5 15 25
V10M10 M10x1 10 27 9 31 1 25
V10R1/8 1/8” BSP 10 24 10 32,5 10 25
V10R1/4 1/4” BSP 10 30 " 38,5 12 25
V13R1/4 1/4” BSP 13 30 10 38,5 13 25
Vi3M14 M14x1,5 13 34 1 42 17 10
V13R3/8 3/8” BSP 13 37 1 44 19 25
V19M24 M24x1,5 19 47 12 56 24 10
V19R1/2 1/2” BSP 19 47 15 58,5 24 10
Double Nipple with Taper Thread
MM AAAA L
Tapered Thread
BSPT
_/\/\/\/\/\N\/ —
¥
<1 <
1
—J
Part No. A A1 L SwW S
EC02/02 1/8” 1/8” 23 10 10
EC04/04 1/4” 1/4” 29 14 10
EC06/06 3/8” 3/8” 29 17 10
EC08/08 1/2” 1/2” 35 21 10
EC12/12 3/4” 3/4” 37 27 10
EC16/16 17 17 43 34 10
EC20/20 1.1/4” 1.1/4” 46 42 10
Reducer Nipple
L
= T L1
|
i =
F,

Part No. A At L L1 swW S
GR1/4-R1/8 G 1/4” G 1/8” 1 7 17 10
GM14-M10 M14x1,5 M10X1 1" 7 17 10
GR3/8-R1/4 G 3/8” G 1/4” 13 9 19 10
GM18-M14 M18x1,5 M14x1,5 14 9 22 10
GR1/2-R3/8 G 1/2” G 3/8” 18 12 24 10
GR3/4-R1/2 G 3/4” G1/2” 24 16 27 10
GM24-M16 M24x1,5 M16x1,5 24 16 27 10
GR1/1-R3/4* G1” G 3/4” 28 19 34 1
GR11/2-R3/4* G1-1/2” G 3/4” 32 22 50 1
GR11/2-R1/1* G 1-1/2” G1” 32 22 50 1

* Without sealant coating.

www.mouldpro.com | 61



